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 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 
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iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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AG-201 ( 3 )  Set-A 

1. flapkbZ pSuy] dq,¡ ;k ugj ds vkmVysV ds 

fuoZgu dks ekius ds fy, mi;ksx fd, tkus 

okys midj.k dks dgk tkrk gS % 

 
1. The device used for measuring discharge 

of irrigation channel, well or canal outlet 

is called :   

(A) esM+  (A) Weir 

(B) ukWp  (B)  Notch 

(C) ehVj xsV  (C)  Meter gate 

(D) mi;qZDr lHkh  (D)  All of the above 

2. ikuh dh ,d ‘khV] tks ,d esM+ dks vksoj¶yks 

djrh gS] gS % 

 
2. A sheet of water, which overflows a weir 

is : 

(A) flj  (A) Head 

(B) Mc  (B)  Nape 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. esM+ ds ek/;e ls fuoZgu dh x.kuk djus dk 

ewy lw= gS % 

 
3. The basic formula to calculate the 

discharge through weir is : 

(A) Q = CLH  (A) Q = CLH 

(B)  Q = CLHm  (B)  Q = CLHm 

(C)  Q = LHm  (C)  Q = LHm 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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4. ,d vuqcaf/kr leyEckdkj esM+ ftlesa ik;nku 

ds izR;sd i{k esa {kSfrt 1 ls 4 Å/okZ/kj <yku 

gksrk gS % 

 
4. A contracted trapezoidal weir in which 

each side of the notch has a slope of 

horizontal 1 to 4 vertical is : 

(A) leyEckdkj esM+  (A) Trapezoidal weir 

(B) fliksysVh esM+  (B)  Cipoletti weir 

(C) vk;rkdkj esM+  (C)  Rectangular weir 

(D) oh&ik;nku  (D)  V-notch 

5. ,d [kqyk pSuy izokg ftlesa fdlh Hkh fcUnq 

ij izokg fo’ks”krk ugha cnyrh gS % 

 
5. An open channel flow in which flow 

characteristic at any point does not 

change with :  

(A) fujarj izokg  (A) Steady flow 

(B) vfLFkj izokg  (B)  Unsteady flow 

(C) ,dleku izokg  (C)  Uniform flow 

(D) xSj&,dleku izokg  (D)  Non-uniform flow 

6. [kqys pSuy esa izokg dk osx fdlds }kjk 

fu/kkZfjr fd;k tkrk gS \ 

 
6. The velocity of flow in open channel is 

determined by : 

(A) MklhZ ds lw= }kjk  (A) Darcy’s formula  

(B) eSfuax ds lw= }kjk  (B)  Manning’s formula 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)   None of the above 
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7. lfjrk] ugjksa] ukfy;ksa vkSj vU; izkd`frd 

xM~<ksa esa flapkbZ ds ikuh dks ys tkus ds fy, 

bLrseky dh tkus okyh lajpuk gS % 

 
7. A structure used to carry out irrigation 

water across the stream, canals, gullies 

and other natural depression is : 

(A) ck¡/k  (A) Weir 

(B) fu’kku  (B)  Notch 

(C) ¶ywe  (C)  Flume 

(D) njokt+k  (D)  Gate 

8. Hkkjh feêh esa dq’ky flapkbZ ds fy, Hkwfe <yku 

dh vuq’kaflr lqjf{kr lhek gS % 

 
8. A recommended safe limit of land slope 

for efficient irrigation in heavy soil is : 

(A) 0.05 ls 0.25%  (A) 0.05 to 0.25% 

(B)  0.20 ls 0.40%  (B)  0.20 to 0.40% 

(C)  0.25 ls 0.65%  (C)  0.25 to 0.65% 

(D) mi;qZDr esa ls dksbZ ugha  (D)  All of the above 

9. jsr] feêh vkSj xkn dk lkis{k vuqikr fu/kkZfjr 

djrk gS % 

 
9. The relative proportion of sand, clay and 

silt determines : 

(A) feêh dh lajpuk  (A) Soil structure 

(B) e`nk lajpuk  (B)  Soil texture 

(C) e`nk nzO;eku  (C)  Soil mass 

(D) feêh dh ek=k  (D)  Soil volume 
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10. ;w- ,l- MCY;w- ,- ds vuqlkj feêh ds d.k dk 

vkdkj gS % 

 
10. The particle size of clay according to 

USWA is : 

(A) 0.002 feeh-  (A) 0.002 mm 

(B)  < 0.002 feeh-  (B)  < 0.002 mm 

(C)  0.002 ls 0.05 feeh-  (C)  0.002 to 0.05 mm 

(D)  0.5 ls 1.0 feeh-  (D)  0.5 to 1.0 mm 

11. jsrhyh feêh dh lja/kzrk vkerkSj ij gksrh gS % 
 

11. The porosity of sandy soil usually ranges 

from : 

(A) 30% ls 35%  (A) 30% to 35% 

(B) 35% ls 50%  (B) 35% to 50% 

(C) 40% ls 60%  (C) 40% to 60% 

(D) 50% ls 60%  (D) 50% to 60% 

12. fNnzksa ds vk;ru dk Bkslksa ds vk;ru ls 

vuqikr gS % 

 
12. The ratio of volume of pores to volume of 

solids is : 

(A) lja/kzrk  (A) Porosity 

(B) ‘kwU; vuqikr  (B)  Void ratio 

(C) d.kksa dk ?kuRo  (C)  Particle density 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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13. ikuh ds nzO;eku vkSj feêh ds nzO;eku ds 

vuqikr dks dgk tkrk gS % 

 
13. A ratio of mass of water to mass of soil is 

referred to as : 

(A) okWY;we xhykiu  (A) Volume wetness 

(B) xzsfoesfVªd ikuh  (B)  Gravimetric water 

(C) lar`fIr dh fMxzh  (C)  Degree of saturation 

(D) mi;qZDr lHkh  (D)  All of the above 

14. vo’kks”k.k cy }kjk feêh ds d.kksa dh lrg ij 

vR;f/kd /kkj.k djus okyk ty gS % 

 
14. Water that holds highly to the surface of 

soil particles by adsorption force is : 

(A) gkbxzksLdksfid ikuh  (A) Hygroscopic water 

(B) dsf’kdk ikuh  (B)  Capillary water 

(C) xq#Rokd”kZ.k ty  (C)  Gravitational water 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

15. dsf’kdk ty yxHkx 
------------------------- 

rukoksa ds chp 

gksrk gSA 

 
15. The capillary water is held between 

tensions of about : 

(A) 15 atm.  (A) 15 atm. 

(B)  31 atm.  (B)  31 atm. 

(C) 31 atm. ls vf/kd   (C)  More than 31 atm. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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16. 
------------------------

 dh feê esa var%L;anu nj lkekU;r% 

de gksrh gSA 

 
16. Infiltration rate is generally lower in soils 

of : 

(A) Hkkjh cukoV  (A) Heavy texture 

(B) gYdh cukoV  (B)  Light texture 

(C) e/;e cukoV  (C)  Medium texture 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

17. fpifpikiu ekik tkrk gS % 
 

17. The viscosity is measured in : 

(A) Mkbu esa  (A) Dynes 

(B) U;wVu eas  (B)  Newton 

(C) ikWbt eas  (C)  Poise 

(D) twy esa  (D)  Joule 

18. lar`fIr {kerk ij ikuh dk ruko yxHkx gS % 
 

18. The tension of water at saturation 

capacity is almost : 

(A) 0  (A) 0 

(B)  1  (B)  1 

(C)  10  (C)  10 

(D)  20  (D)  20 

19. ueh dh ek=k ftl ij eqj>kus dk dke iwjk 

gks tkrk gS vkSj ikS/kk ej tkrk gS % 

 
19. The moisture content at which the wilting 

is complete and the plant dies : 

(A) LFkk;h xyu fcUnq  (A) Permanent wilting point 

(B) vafre eqj>kuk  (B)  Ultimate wilting 

(C) foÇYVx jsat  (C)  Wilting range 

(D) vLFkk;h :i ls eqj>kuk  (D)  Temporary wilting 
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20. lar`Ir ;k yxHkx lar`Ir feêh ds ek/;e ls 

ikuh dh uhps dh vksj xfr xq#Rokd”kZ.k cy 

dh izfrfØ;k gS % 

 
20. The downward movement of water 

through saturated or nearly saturated soil 

in response to force of gravity is : 

(A) var%L;anu  (A) Infiltration 

(B) Vidu  (B)  Percolation 

(C) fjluk  (C)  Seepage 

(D) baVj¶yks  (D)  Interflow 

21. fjlus esa ikuh dh xfr gS % 
 

21. The movement of water in seepage is : 

(A) uhps  (A) Downward 

(B) ik’oZ esa  (B)  Lateral 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

22. jsukWYM~l la[;k 
---------------------------- 

gksus ij MklhZ dk 

fu;e ykxw gksrk gSA 

 
22. Darcy’s law is applicable when 

Reynolds’ number is : 

(A) 1 ds cjkcj  (A) Equal to 1 

(B) 1 ls de  (B)  Less than 1 

(C) 1 ls vf/kd  (C)  More than 1 

(D) 2 ls de  (D)  Less than 2 
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23. fuEufyf[kr esa ls dkSu&lk o”kZ.k dk :i  

gS \ 

 
23. Which of the following is the form of 

precipitation ? 

(A) o”kkZ  (A) Rainfall 

(B) fgeikr  (B)  Snowfall 

(C) vksyk  (C)  Hail 

(D) mi;qZDr lHkh  (D)  All of the above 

24. lkbeUl xst fdl izdkj dk o”kkZekih gS \ 
 

24. Symon’s gauge is which type of rain 

gauge ? 

(A) fjdkWfM±x izdkj  (A) Recording type 

(B) xSj&fjdkWfM±x izdkj  (B)  Non-recording type 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

25. ok”ihdj.k ds vkdyu ds fy, fdl fof/k dk 

mi;ksx fd;k tkrk gS \ 

 
25. Which method is used for estimation of 

evaporation ? 

(A) ty ctV fof/k  (A) Water budget method 

(B) ÅtkZ larqyu fof/k  (B)  Energy balance method 

(C) ekl VªkalQj fof/k  (C)  Mass transfer method 

(D) mi;qZDr lHkh  (D)  All of the above 

26. ykblhehVj dk mi;ksx fdlds ekius ds fy, 

fd;k tkrk gS \ 

 
26. Lysimeter is used to measure : 

(A) ok”ihdj.k  (A) Evaporation 

(B) ok”iu&mRltZu  (B)  Evaportranspiration 

(C) ok;qe.Myh; ncko  (C)  Atmospheric pressure 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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27. var%L;anu dks ekik tkrk gS % 
 

27. Infiltration is measured by the : 

(A) bfUQYVªksehVj }kjk  (A) Infiltrometer 

(B) ok”ihdj.kekih }kjk  (B)  Evaporimeter 

(C) gkbMªksehVj }kjk  (C)  Hydrometer 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

28. izR;{k viokg cukrk gS % 
 

28. Direct runoff is made up of :  

(A) tehu ij izokg ls  (A) Overland flow 

(B) Hkwry viokg vkSj ‘kh?kz varj&izokg ls  (B)  Surface runoff and prompt inter- 

flow 

(C) lrgh viokg vkSj fjluk ls  (C)  Surface runoff and infiltration 

(D) o”kkZ vkSj ok”ihdj.k ls  (D)  Rainfall and evapotranspiration 

29. ifjes; lw= dsoy NksVs vkdkj ds ty xzg.k 

{ks=ksa ij ykxw gksrk gS ftlesa ,d {ks= gksrk gS % 

 
29. Rational formula is only appicable to 

small size catchments which has an area : 

(A) 50 km
2
 ls de  (A) Less than 50 km

2
 

(B) 50 km
2
 ls vf/kd  (B)  More than 50 km

2
 

(C) 5000 km
2
 ls de  (C)  Less than 5000 km

2
 

(D) 5000 km
2
 ls vf/kd  (D)  More than 5000 km

2
 

30. ,d dq,¡ esa izfr ;wfuV Mªk Mkmu 
------------------------ 

ds 

:i esa tkuk tkrk gSA 

 
30. The discharge per unit draw down at a 

well is known as : 

(A) fof’k”V mit  (A) Specific yield 

(B) fof’k”V HkaMkj.k  (B)  Specific storage  

(C) fof’k”V {kerk  (C)  Specific capacity 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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31. ikuh ds LFkkuh; mi;ksx ds fy, flapkbZ dk 

lcls vPNk rjhdk dkSu&lk gS \ 

 
31. Which is the best method of irrigation for 

localised application of water ? 

(A) QqOokjk iz.kkyh  (A) Sprinkler system 

(B) fMªi flLVe  (B)  Drip system 

(C) ck<+ iz.kkyh  (C)  Flood system 

(D) Qksxj flLVe  (D)  Fogger system 

32. fMªi flapkbZ dh n{krk D;k gS \ 
 

32. What is the efficiency of drip irrigation ? 

(A) fMªi flLVe dh {kerk 50%&60% rd 

gksrh gSA 

 (A) Efficiency of drip system is as high 

as 50%-60%. 

(B) fMªi flLVe dh {kerk 90%&95% rd 

gksrh gSA 

 (B)  Efficiency of drip system is as high 

as 90%-95%. 

(C) fMªi flLVe dh {kerk 60%&75% rd 

gksrh gSA 

 (C)  Efficiency of drip system is as high 

as 60%-75%. 

(D) fMªi flLVe dh n{krk 95%&100% rd 

gksrh gSA 

 (D)  Efficiency of drip system is as high 

as 95%-100%. 

33. lrgh flapkbZ esa fdruk ikuh cckZn gksrk gS \ 
 

33. How much water is lost in surface 

irrigation ? 

(A) 50% ikuh  (A) 50% water 

(B) 30% ikuh  (B)  30% water 

(C) 70% ikuh  (C)  70% water 

(D) 40% ikuh  (D)  40% water 
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34. dkSu&lk fMªi flLVe dk ,d ?kVd ugha gS \ 
 

34. Which is  not a component of drip  

system ? 

(A) fMªij  (A) Drippers 

(B) mRltZd  (B)  Emitters 

(C) Qksxj  (C)  Fogger 

(D) fQYVj  (D)  Filters 

35. fMªi iz.kkyh ds fy, vkn’kZ Qly dkSu&lh  

gS \ 

 
35. Which is an ideal crop for drip system ? 

(A) /kku   (A) Paddy 

(B) xsgw¡  (B)  Wheat 

(C) xqynkmnh  (C)  Chrysanthemum 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

36. ÇLizdyj flapkbZ iz.kkyh dk nwljk uke D;k  

gS \ 

 
36. What is another name for a sprinkler 

irrigation system ? 

(A) vksojgsM flapkbZ iz.kkyh  (A) Overhead irrigation system 

(B) vksojgsM ‘kkWoj flLVe  (B)  Overhead shower system 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. fMªi flapkbZ iz.kkyh dh [kkst dgk¡ dh xbZ  

Fkh \ 

 
37. Where was the drip irrigation system 

discovered ? 

(A) bZjku  (A) Iran 

(B) btjkby  (B)  Israel 

(C) esMkxkLdj  (C)  Madagascar 

(D) la;qDr vjc vehjkr  (D)  United Arab Emirates 
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38. ygjnkj Hkwfe vkSj jsrhyh feêh ds fy, flapkbZ 

dh dkSu&lh fof/k mi;qDr gS \ 

 
38. Which method of irrigation is suitable for 

undulating land and sandy soil ? 

(A) fMªi  (A) Drip 

(B) ck<+  (B)  Flood 

(C) fNM+dko  (C)  Sprinkler 

(D) Fkkyk  (D)  Thala 

39. ;g fu/kkZfjr djus dh izfØ;k fd dc flapkbZ 

djuh gS vkSj fdruk ikuh nsuk gS % 

 
39. The process of determining when to 

irrigate and how much water to apply : 

(A) flapkbZ ;kstuk  (A) Irrigation scheduling 

(B) dq’ky ty izca/ku  (B)  Efficient water management 

(C) ty mi;ksx ;kstuk  (C)  Water use planning 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

40. Qly esa ikuh yxkus dh vkn’kZ voLFkk 

dkSu&lh gS \ 

 
40. What is the ideal stage for applying water 

to the crop ? 

(A) 50% e`nk ueh kl pj.k  (A) 50% soil moisture depletion stage 

(B) 40% e`nk ueh kl pj.k  (B)  40% soil moisture depletion stage 

(C) 30% e`nk ueh kl pj.k  (C)  30% soil moisture depletion stage 

(D) 60% e`nk ueh kl pj.k  (D)  60% soil moisture depletion stage 

41. ty ekiu dh vk;ru fof/k dkSu&lh gS \ 
 

41. Which one is the volumetric method of 

water measurement ? 

(A) [kk¡ps  (A) Furrows 

(B) fNM+dko  (B)  Sprinklers 

(C) fMªij  (C)  Drippers 

(D) mi;qZDr lHkh  (D)  All of the above 
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42. lcls vke ty izokg ekius okyk midj.k 

dkSu&lk gS tks [kqyh ukyh esa ty izokg dks 

ekirk gS \ 

 
42. Which is the most common water flow 

measuring device which measures water 

flow in open conduit ? 

(A) ikj’ky ¶ywe  (A) Parshall flume 

(B) osapqjh ¶ywe  (B)  Venturi flume 

(C) ;k rks (A) ;k (B)  (C)  Either (A) or (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

43. rjkbZ ds pkoy vkSj twV ds fy, dkSu&lh fof/k 

mi;qDr gS \ 

 
43. Which method is suitable for lowland rice 

and jute ? 

(A) fMªi fof/k  (A) Drip method 

(B) ugj fof/k  (B)  Canal method 

(C) ck<+ fof/k  (C)  Flooding method 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. fNM+dko flapkbZ iz.kkyh esa fdruk nkc yxk;k 

tkrk gS \ 

 
44. How much pressure is applied in 

sprinkler irrigation system ? 

(A) 2-5 ckj  (A) 2.5 bar 

(B) < 2-5 ckj  (B)  < 2.5 bar 

(C) > 2-5 ckj  (C)  > 2.5 bar 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

45. fMªi flLVe dk nwljk uke D;k gS \ 
 

45. What is the another name of drip  

system ? 

(A) fVªdy flLVe  (A) Trickle system 

(B) cw¡n iz.kkyh  (B)  Droplet system 

(C) nksuksa (A) vkSj (B)   (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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46. izfr fMªij ls ikuh ds fudyus dh nj D;k  

gS \ 

 
46. What is the discharge rate of water from 

per dripper ? 

(A) 0.5-1 l/h  (A) 0.5-1 l/h 

(B)  1-4 l/h  (B)  1-4 l/h 

(C)  5-6 l/h  (C)  5-6 l/h 

(D)  7-8 l/h  (D)  7-8 l/h 

47. fNM+dko iz.kkyh esa ty forj.k dh nj D;k  

gS \ 

 
47. What is the rate of water delivery in 

sprinkler system ? 

(A) 1000 l/h  (A) 1000 l/h 

(B)  > 1000 l/h  (B)  > 1000 l/h 

(C)  < 1000 l/h  (C)  < 1000 l/h 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

48. lrgh flapkbZ dh rqyuk esa fNM+dko fof/k esa 

ikuh dh cpr D;k gS \ 

 
48. What is the saving of water in sprinkler 

method as compared to surface  

irrigation ? 

(A) 40%-50%  (A) 40%-50% 

(B)  25%-50%  (B)  25%-50% 

(C)  70%-80%  (C)  70%-80% 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

49. feêh dh {ks= {kerk fuHkZj djrh gS % 
 

49. The field capacity of a soil depends  

upon : 

(A) feêh esa dsf’kdk ruko ij  (A) Capillary tension in soil 

(B) feêh dh lja/kzrk ij  (B)  Porosity of soil 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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50. esM+ dk ‘kh”kZ dgykrk gS % 
 

50. Top of the weir is called : 

(A) fjt  (A) Ridge 

(B) gsM  (B)  Head 

(C) ØsLV  (C)  Crest 

(D) ihd  (D)  Peak 

51. fuEufyf[kr esa ls ,d vPNh flapkbZ fof/k dh 

xq.koŸkk D;k gS \ 

 
51. Which of the following is the quality of a 

good irrigation method ? 

(A) fu{kkfyr moZjd  (A) Leached fertilizers 

(B) c<+h gqbZ mit  (B)  Increased yield 

(C) ty fudklh dh leL;k  (C)  Drainage troubles 

(D) e`nk vijnu   (D)  Soil erosion 

52. fuEufyf[kr esa ls ldy flapkbZ vko’;drk 

dk lgh lw= dkSu&lk gS \ 

 
52. Which of the following is the  

correct formula for gross irrigation 

requirement ? 

(A) Cu – Re  (A) Cu – Re 

(B)  CIR + Leaching losses  (B)  CIR + Leaching losses 

(C)  NIR/Na  (C)  NIR/Na 

(D)  FIR/Nc  (D)  FIR/Nc 
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53. flapkbZ dh okf”kZd rhozrk (AII) D;k gS \ 
 

53. What is the Annual Intensity of Irrigation 

(AII) ? 

(A) d`f”k ;ksX; deku {ks=@ldy flafpr 

                            {ks= 

 (A) Cultivable Command Area/Gross 

Irrigated Area 

(B) ‘kq) flafpr {ks=@[ksrh ;ksX; deku {ks=  (B)  Net Irrigated Area/Cultivable 

Command Area 

(C) d`f”k ;ksX; deku {ks=@’kq) flafpr {ks=  (C)  Cultivable Command Area/Net 

Irrigated Area 

(D) ldy flafpr {ks=@[ksrh ;ksX; deku 

                           {ks= 

 (D)  Gross Irrigated Area/Cultivable 

Command Area 

54. lrgh flapkbZ fdrus izdkj dh gksrh gS \ 
 

54. How many types of surface irrigation are 

there ? 

(A) 1  (A) 1 

(B)  2  (B)  2 

(C)  3  (C)  3 

(D)  4  (D)  4 

55. ckjgeklh flapkbZ iz.kkyh dk nwljk uke D;k  

gS \ 

 
55. What is the other name of perennial 

irrigation system ? 

(A) izR;{k flapkbZ  (A) Direct Irrigation 

(B) HkaMkj.k flapkbZ  (B)  Storage Irrigation 

(C) fu;af=r flapkbZ  (C)  Controlled Irrigation 

(D) ck<+ flapkbZ  (D)  Flood Irrigation  

56. iyokj dk iz;ksx djrs gSa % 
 

56. Mulch is used for : 

(A) [kjirokj fu;a=.k ds fy,   (A) Control of weeds 

(B) ueh cpkus ds fy,  (B)  Saving moisture 

(C) rkiØe ds fu;eu gsrq  (C)  Regulation of temperature 

(D) mi;qZDr lHkh  (D)  All of the above 
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57. ;w- ,l- MCY;w- ,- ds vuqlkj xkn dk d.k 

vkdkj gS % 

 
57. The particle size of slit according to 

USWA is : 

(A) > 0.002 feeh-  (A) > 0.002 mm 

(B)  < 0.002 feeh-  (B)  < 0.002 mm 

(C)  0.002 ls 0.05 feeh-  (C)  0.002 to 0.05 mm 

(D)  0.25 ls 0.5 feeh-  (D)  0.25 to 0.5 mm 

58. [kM+h Qly dh nks ykbuksa ds chp ukyh esa 

ty laxzg dgykrk gS % 

 
58. Water harvesting in standing crop 

between two rows is called : 

(A) bUVj jks ty laxzg  (A) Inter row water collection 

(B) lrgh fu{kkyu  (B)  Surface drainage 

(C) bUVjk jks ty laxzg  (C)  Intra row water collection 

(D) lekUrj ty laxzg  (D)  Parallel water collection 

59. dsf’kdk lek;kstu 
------------------------ 

ds chp cgqr 

lqLr gksrk gSA 

 
59. The capillary adjustment is very sluggish 

between : 

(A) 15 vkSj 30 ok;q-  (A) 15 and 30 atm. 

(B) 31 vkSj 15 ok;q-  (B)  31 and 15 atm. 

(C) 31 vkSj 41 ok;q-  (C)  31 and 41 atm. 

(D) 41 vkSj 15 ok;q-  (D)  41 and 15 atm. 

60. LFkk;h xyu fcUnq ij feêh dh ueh dk ruko 

gksrk gS % 

 
60. The moisture tension of a soil at 

permanent wilting point ranges from : 

(A) 7 ls 15 ok;q-  (A) 7 to 15 atm. 

(B) 15 ls 32 ok;q-  (B)  15 to 32 atm. 

(C) 7 ls 32 ok;q-  (C)  7 to 32 atm. 

(D) 15 ls 45 ok;q-  (D)  15 to 45 atm. 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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